
פתרון תרגיל
–תרגילי חזרה 

טריגונומטריה במישור

7. ת, 547' עמ, 581

1-'חלק ב( ל"יח5)מתמטיקה 

 המצגת נערכה ע"י אבי בן נעים
כל הזכויות שמורות לוויסקול לימודים מקוונים בע"מ



השאלה
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𝑍2 = 𝑋2 + 2𝑋 2 − 2 ∙ 𝑋 ∙ 2𝑋 cos α

𝑍2 = 5𝑋2 − 4𝑋2 cos α

1.5𝑍 2 = 𝑋2 + 2𝑋 2 − 2 ∙ 𝑋 ∙ 2𝑋 cos 2α

2.25𝑍2 = 5𝑋2 − 4𝑋2 cos 2α
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2.25 5𝑋2 − 4𝑋2 cos α = 5𝑋2 − 4𝑋2 cos 2α /: 𝑋2

2.25 5 − 4 cos α = 5 − 4 2 cos2 α − 1

8 cos2 α − 9 cos α + 2.25 = 0

cos α = 0.75

cos α = 0.375

α= 41.41°

α= 67.98°



פתרון

7. ת| 547' עמ| 581

𝑋 ∙ 2𝑋 ∙ sin 82.82°
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α= 41.41°

α= 67.98°

𝑋 ∙ 2𝑋 ∙ sin 135.96°
2

𝑋 ∙ 2𝑋 ∙ sin 67.98°
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בהצלחה




